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THEXy « T - FER - 5 Mo % FREAL K B G EHAm & T2 (BB
BV
= 1 223, 745, 867
T e R T
= 1 214, 316, 652
E¥LT
= 1 1, 526, 939
R L
= 1 212,789, 713
SRS (A) 45HR! JRMREAAAR S 35, Bm JE
AE 34.5m
% 58 1, 848, 046 107, 186, 668
SRS (B) A5HR! JRMREAAARR S 35, Bm JE
AE 34.5m
% 57 1, 852, 685 105, 603, 045
fFHFE R T
= 1 2,227,561
TAT 7V MG T
HLE AR (A)
= 1 1,751, 290
I & A (B ) FLE)T9vTy RC-30 41 0 JE 110
mm
m2 532 883.7 470, 128
e A GaE D) R FIHRE A M-30 {1 =V E 70
mm
m2 532 839.2 446, 454
FE (FaE - B TR EET AT, (13) &H4EE 40m
m 3. Omtd
m2 532 1, 569 834, 708
TAT 7V MG T
HLE AL (B)
= 1 47, 070
FE (FaE - B PRI EET AT, (13) &H4EE 40m
m 3. Omtd
m2 30 1, 569 47,070
i L
= 1 429, 201
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
RHEBER T ny) BFE (180/205 X 250 X 600)
BB-1-3 (200) # Z= % &
m 103 4,167 429, 201
HEE L
= 1 344, 780
RS B LT
= 1 283, 071
LSl TAT 7V MEHZERR 15emBl
m 14 507. 4 7,103
LS TAT 7RSSR SHEERRE 15emPl
m2 560 492.8 275, 968
TEHR LB T
= 1 61, 709
I TAT 7 bk
m3 23 1,593 36, 639
ALy TAT 7 bk
m3 23 1, 090 25,070
G an
= 1 6, 856, 874
THAEK T
= 1 36, 807
- F - B T
= 1 686, 224
(ES e N
= 1 3,676, 778
R L
= 1 2,297, 783
1R IE T
= 1 159, 282
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
B TR
= 1 223, 745, 867
I L
= 1 18, 445, 585
IR
= 1 3,924, 686
TR
= 1 2, 090, 556
TR AR T W3 1=
= 1 2,082, 763
IERA TR 1.6t
= 1 7,793
BIGRssET (K30
= 1 1, 834, 130
HIBGERE (FEH L)
= 1 14, 520, 899
Wi
= 1 242, 191, 452
B
= 1 51, 295, 364
LA
= 1 293, 486, 816
— R
= 1 42,993, 184
TS
= 1 336, 480, 000
THEBLF Y %H
= 1 33, 648, 000
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HoOflf =%

THEX Sy « TR - AR - B Bk FHIHAL K

il
op
Jeuis
=
5
&

2 (BEARM)

TH#EG

= 1 370, 128, 000
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